# SR 67 MEDIAN ENHANCEMENT

# TOWN OF MCCORDSVILLE, INDIANA

# PROPOSAL

- 1. The Bidder shall complete all required information and documentation for each submitted bid proposal, and include the proposal within the bid envelope marked "Proposal for SR 67 Median Enhancement, Town of McCordsville, Indiana."
- 2. The Undersigned Bidder declares that he/she has read the Specifications and other Contract Documents, has examined and understands the Plans, has examined the site of the work and has determined for himself the conditions affecting the work, and he proposes and agrees if this Proposal is accepted to provide, at his own expense, all labor, insurance, superintendence, machinery, plant, equipment, tools, apparatus, appliances and means of construction, and all materials and supplies, and to complete ready for its intended purpose, the entire work and all parts thereof described as included under the Contract herein bid upon, in the manner and items prescribed, including all work incidental thereto, according to the Plans and Specifications and such instructions as the Director of Engineering may give. INDIANA DEPARTMENT OF TRANSPORTATION (INDOT) STANDARD SPECIFICATION EFFECTIVE DATE IS 2020, with supplemental specifications effective the date of the Advertisement for Bid.
- 3. The Undersigned Bidder, in compliance with the Contract Documents dated December 7, 2020, hereby proposes to do the work called for in said Specifications and other Contract Documents and as shown on said Plans for the said work at the following rates and prices:

Item #	Description	Quantity	Unit	Unit Cost	Total
1	Construction Engineering	1	LS	5,000.00	5,000.00
2	Mobilization and Demobilization	1	LS	24,000.00	24,000.00
3	Clearing of Right of Way	1	LS	3.000.00	3,000.00
4	Excavation, Common	1058	CYS	45.00	47,610.00
5	Borrow	285	CYS	40.00	11,400.00
6	Concrete Center Curb, Type D	88	SYS	225.00	19.800.00
7	Curb, Concrete	3296	LFT	23.00	75,800.00
8	Mobilization and Demobilization for Seeding	1	EA	500.00	500.00
9	Topsoil	835	CYS	45.00	37,575.00
10	Maintaining Traffic	1	LS	31,000.00	31.000.00
11	Construction Sign, A	13	EA	430.00	5,590.00
12	Flashing Arrow Sign	90	DAY	20.00	1,800.00
13	Barricade, III-B	72	LFT	33.00	2,376.00
14	Temporary Pavement Marking, Removable, 4 in.	885	LFT	1.40	1,239.00
15	Temporary Pavement Message Marking, Lane Indication Arrow	5	EA	300.00	1,500.00
16	Signal Head, Relocate	2	EA	650.00	1,300.00
17	Line, Thermoplastic, Broken, White 4 in.	184	LFT	3,40	625.60
18	Line, Remove	305	LFT	2.40	732.00
19	Line, Thermoplastic, Solid Yellow, 4 in.	4235	LFT	1.20	5,082.00
20	Sign, Sheet, With Legend, 0.080 in. Thickness	17.5	SFT	36.00	630.00
21	Sign, Sheet, With Legend, 0.100 in. Thickness	13.5	SFT	37.00	499.50
22	Sign Post, Square, Type 1, Reinforced Anchor Base	43	LFT	26.00	1,118.00

Proposal

Item #	Description	Quantity	Unit	Unit Cost	Total
23	Sign Post, Square, Type 2, Reinforced Anchor Base	40	LFT	26.00	1.040.00
24	Mulched Seeding, Type U	1943	SYD	2.00	3,886.00
25	Irrigation Sleeves	90	LFT	70.00	6,300.00

### BID TOTAL: \_289,411.10

All Prospective Bidders are required to submit unit prices and their extensions on all items included in this Proposal. In the event of an omitted extension or mistake in the extension total, the designated unit price amount shall govern to determine the corrected extension amount.

- 1. The Undersigned Bidder understands that the above quantities of work to be done are approximate only and are intended principally to serve as a guide in evaluating the bids.
- 2. The Undersigned agrees, upon written notice of the acceptance of this bid within three (3) days after the bid award that he will execute the Contract in accordance with the bid as accepted and give Performance, Maintenance and Payment Bond on the forms included herein within seven (7) days after the prescribed forms are presented for signature.
- 3. The Undersigned further agrees that, if awarded the Contract, he will commence work within seven (7) calendar days after receipt of Notice to Proceed.
- 4. As an evidence of good faith in submitting this Proposal, the Undersigned encloses either a cashier's check, a certified check drawn on an acceptable bank, or an acceptable Bid Bond in the amount of not less than five percent (5%) of the total amount of the bid, which in case he refuses or fails to accept an award and to enter into a Contract and file the required bonds within the prescribed time, shall be forfeited damages to the TOWN OF MCCORDSVILLE, Indiana, as liquidated damages.

The Undersigned hereby declares that the only parties interested in this Proposal are named herein, that this Proposal is made without collusion with any other person, firm or corporation, that no member of the City Council, officer or agent of the TOWN OF MCCORDSVILLE, Indiana is directly or indirectly financially interested in this bid.

Addenda No. \_\_\_\_\_ received and considered in the preparation of this bid.

# SIGNATURE OF BIDDER:

If an Individual:	, doing business as
If A Partnership:	, member of firm
If a Corporation: CC&F Construction Co., Inc	
By:	

Business Address of Bidder: 5051 Prospect Street, Indianapolis, IN 46203

SR 67 Median Enhancement Town of McCordsville, Indiana

P-2 of 2

Proposal

#### **INDIANA LEGAL EMPLOYMENT DECLARATION**

The State of Indiana has enacted a law (I.C. 22-5-1.7) requiring all state agencies and political subdivisions request verification from their contractors that their employees are legally eligible to work in the United States. This Declaration serves as notice that all Contractors doing business with the Town of McCordsville must, as a term of their contract:

- 1. Enroll in and verify the work eligibility status of newly hired employees of the contractor through the E-Verify programs (but is not required to do this if the E-Verify program no longer exists); and
- 2. Verify, by signature below, that the Contractor does not knowingly employ unauthorized aliens.

I, Tony Page , a duly authorized agent of:

CC&T Construction Co., Inc (name of Company), declare under penalties of perjury that:

<u>CC&T Construction Co., Inc</u> (name of Company) does not employ unauthorized aliens to the best of its knowledge and belief.

CC&T Construction Co., Inc

(Name of Company)

By:

(Authorized Representative of Company) **Tony Page/President** 

Subscribed and sworn to before me on this <u>07</u> day of <u>December</u>, 20<u>20</u>.

My Commission Expires: 04/30/2027

County of/Residence: \_\_\_\_Marion

Notary Public - Signature

Karla Hamilton Notary Public – Printed Name KARLA HAMILTON Notary Public - Seal Marion County - State of Indiana Commission Number NP0720066 March Addission Expires April 30, 2027

SR 67 Median Enhancement Town of McCordsville, Indiana E-Verify Affidavit



March 11, 2020

CC&T Construction Co., Inc Attn: Karla Hamilton 5051 Prospect Street Indianapolis, IN 46203

### NOTICE OF COMPLIANCE

Dear Ms. Hamilton:

This acknowledges that the Office of Minority & Women Business Development (OMWBD) has received your company's Indiana Plan/Affirmative Action Certification and its completed and executed City of Indianapolis – Equal Opportunity Compliance form and Attachment A to the form (collectively "CC-09"). Your submitted documents have been reviewed and approved by OMWBD. As a result, you are hereby given notice that your company is in compliance with the Mayor's Executive Order #1, 1987.

Your company's Equal Employment Opportunity Policy Statement & CC-09 will remain on file and active with OMWBD until **March 31, 2021**. If your company has been deemed the "apparent lowest responsive bidder" on a new bid, a copy of this Notice must be submitted within three (3) business days of notification by owner.

Please do not submit a new Indiana Plan/Affirmative Action Certification & CC-09 until your first bid after March 31, 2021.

Fahad Beg

Senior Manager Office of Minority & Women Business Development City of Indianapolis

Phone: 317.327.5262 Fax: 317.327.4482 1260 City County Building 200 East Washington Stree Indianapolis, Indiana 46204 www.indy.gov

# **E-VERIFY CERTIFICATION**

Pursuant to Indiana Code 22-5-1.7-11, the subcontractor awarded this subcontract is required to enroll in and verify the work eligibility status of all its newly hired employees through the E-Verify program.

The individual person executing this certification on behalf of the subcontractor being duly sworn deposes and states they do not knowingly employ any unauthorized illegal aliens. The undersigned further affirms that, prior to entering into this subcontract agreement the undersigned business entity will enroll in and agrees to verify the work eligibility status of all its newly hired employees through E-Verify Program.

CC&T Construction Co., Inc.

Company Name Tony Page Printed Name Signature 02/18/2020 Date

## EQUAL EMPLOYMENT OPPORTUNITY POLICY

The employment policies and practices of CC&T Construction Co., Inc. are to recruit, hire and treat employees without discrimination because of a person's race, religion, color, sex, national origin, age, or disability. Our company is committed to providing Equal Employment Opportunity with respect to hiring, termination, compensation, advancement, upgrading and promotion, and transfer.

This company seeks to ensure compliance with the Civil Rights Acts of 1964, as amended, the Federal Highway Act of 1968, the Executive Order 11246, and 11375, the Indiana Civil Rights Act, and other Federal and State Law Regulations pertaining to Equality of Opportunity and Affirmative Action Policies.

Our company is committed to leadership within the community, and to put forth maximum efforts to achieve full employment and utilization of capabilities and productivity of all qualified individuals without regard to race, religion, color, national origin, age, or disability.

This company further recognizes that the effective application of a polity of Equal Employment Opportunity involves more than just a policy statement, and is committed to the promotion of Affirmative Action.

Anyone that has reason to believe that they have been discriminated against should promptly report the incident to the Company EEO Officer at once.

The company EEO Officer, Tony Page, may be contacted at the following address and telephone number:

CC&T Construction Co., Inc. 5051 Prospect Street Indianapolis, IN 46203 Phone: 317-356-6385 Fax: 317-356-2175 E-mail: tppage@hotmail.com

Tony Page, EEO Officer

<u>January 1, 2020</u> Date

## COMPANY EQUAL EMPLOYMENT OPPORTUNITY (EEO OFFICER)

Please be advised that on January 1, 2013, Tony Page was appointed the Equal Employment (EEO) Officer for CC&T Construction Co., Inc. It shall be the EEO Officer's responsibility to ensure that all applicants for employment, and all current employees, receive equality of opportunity in all aspects of their employment and treatment with this firm. The EEO Officer shall investigate all complaints, which allege discrimination because of race, religion, color, sex, national origin, age or disability.

CC&T Construction Co., Inc. shall comply with all provisions of the Civil Rights Act of 1964, as amended, Executive Order 11246 and 11375 and all other federal and state regulations related or pertaining to Equal Employment Opportunity. Anyone that has reason to believe that they have been discriminated against should promptly report the incident to the Company EEO Officer at once.

The Company EEO Officer, Tony Page, may be contacted at the following address and telephone number:

CC&T Construction Co., Inc. 5051 Prospect Street Indianapolis, IN 46203 Phone: 317-356-6385 Fax: 317-356-2175 E-mail: tppage@hotmail.com

Tony Page, EEO Officer

January 1, 2020 Date **CONTRACTOR'S BID FOR PUBLIC WORK - FORM 96** 



State Form 52414 (R2 / 2-13) / Form 96 (Revised 2013) Prescribed by State Board of Accounts

> PART I (To be completed for all bids. Please type or print)

> > Date (month, day, year): December 07, 2020

1. Governmental Unit (Owner): Town of McCordsville

2. County : Hancock

3. Bidder (Firm): CC&T Construction Co., Inc.

Address: 5051 Prospect Street

City/State/ZIPcode: Indianapolis, IN 46203

4. Telephone Number: 317-356-6385

5. Agent of Bidder (if applicable): Tony Page

Pursuant to notices given, the undersigned offers to furnish labor and/or material necessary to complete

the public works project of \_\_\_\_\_\_ Town of McCordsville

(Governmental Unit) in accordance with plans and specifications prepared by Town of McCordsville and

Crossroad Engineers, P.C	and dated	December 07, 2020	for the sum of
			-

\$

The undersigned further agrees to furnish a bond or certified check with this bid for an amount specified in the notice of the letting. If alternative bids apply, the undersigned submits a proposal for each in accordance with the notice. Any addendums attached will be specifically referenced at the applicable page.

If additional units of material included in the contract are needed, the cost of units must be the same as that shown in the original contract if accepted by the governmental unit. If the bid is to be awarded on a unit basis, the itemization of the units shall be shown on a separate attachment.

The contractor and his subcontractors, if any, shall not discriminate against or intimidate any employee, or applicant for employment, to be employed in the performance of this contract, with respect to any matter directly or indirectly related to employment because of race, religion, color, sex, national origin or ancestry. Breach of this covenant may be regarded as a material breach of the contract.

# CERTIFICATION OF USE OF UNITED STATES STEEL PRODUCTS (If applicable)

I, the undersigned bidder or agent as a contractor on a public works project, understand my statutory obligation to use steel products made in the United States (I.C. 5-16-8-2). I hereby certify that I and all subcontractors employed by me for this project will use U.S. steel products on this project if awarded. I understand that violations hereunder may result in forfeiture of contractual payments.

# ACCEPTANCE

The above bid is accepted the	nis07	day of	December	, <u>2020</u> , subject t	o the
following conditions:					
Contracting Authority Members:					
PART II (For projects of \$150,000 or more – IC 36-1-12-4)					
Governmental Unit:	Town of McCo	ordsville			
Bidder (Firm)	CC&T Constr	uction Co., In	IC.		

Date (month, day, year): <u>12/07/2020</u>

These statements to be submitted under oath by each bidder with and as a part of his bid. Attach additional pages for each section as needed.

# SECTION I EXPERIENCE QUESTIONNAIRE

1. What public works projects has your organization completed for the period of one (1) year prior to the date of the current bid?

Contract Amount	Class of Work	Completion Date	Name and Address of Owner
799,992.00	Curb and Sidewalk	08/19	City of Indianapolis
288,839.00	Curb and Sidewalk	07/19	City of Noblesville
341,655.00	Curb and Sidewalk	07/19	Town of Bargersville
28,989.00	Curb and Sidewalk	10/19	City of Lebanon

2. What public works projects are now in process of construction by your organization?

Contract Amount	Class of Work	Expected Completion Date	Name and Address of Owner
500,000.00	Curb and Sidewalk		City of Indianapolis
287,697.00	Curb and Sidewalk		City of Noblesville
488,323.00	Curb and Sidewalk		City of Carmel
552,250.00	Curb and Sidewalk		City of Carmel

- 3. Have you ever failed to complete any work awarded to you? No \_\_\_\_\_ If so, where and why?
- List references from private firms for which you have performed work.
  Milestone Contractors- Greg Nolting 317-788-6885
  Grady Brothers- Tom Grady 317-244-3343
  E&B Paving-April Ryan 317-773-4132
  Rieth-Riley Construction- Kevin Werking 317-634-5561
  Morphey Construction-Steve Milbourne 317-356-9259

# SECTION II PLAN AND EQUIPMENT QUESTIONNAIRE

1. Explain your plan or layout for performing proposed work. (Examples could include a narrative of when you could begin work, complete the project, number of workers, etc. and any other information which you believe would enable the governmental unit to consider your bid.)

N/A

2. Please list the names and addresses of all subcontractors *(i.e. persons or firms outside your own firm who have performed part of the work)* that you have used on public works projects during the past five (5) years along with a brief description of the work done by each subcontractor.

N/A

3. If you intend to sublet any portion of the work, state the name and address of each subcontractor, equipment to be used by the subcontractor, and whether you will require a bond. However, if you are unable to currently provide a listing, please understand a listing must be provided prior to contract approval. Until the completion of the proposed project, you are under a continuing obligation to immediately notify the governmental unit in the event that you subsequently determine that you will use a subcontractor on the proposed project.

\_\_\_\_\_

Morphey Construction-Steve Milbourne 317-356-9259

Slusser's Green Thumb Inc - 574-722-3102

Certified Engineering- 317-546-1599

Indiana Sign & Barricade 317-377-8000

4. What equipment do you have available to use for the proposed project? Any equipment to be used by subcontractors may also be required to be listed by the governmental unit.

See Attached

5. Have you entered into contracts or received offers for all materials which substantiate the prices used in preparing your proposal? If not, please explain the rationale used which would corroborate the prices listed.

CC&T has Price sheets with Concrete Companies.

# SECTION III CONTRACTOR'S FINANCIAL STATEMENT

Attachment of bidder's financial statement is mandatory. Any bid submitted without said financial statement as required by statute shall thereby be rendered invalid. The financial statement provided hereunder to the governing body awarding the contract must be specific enough in detail so that said governing body can make a proper determination of the bidder's capability for completing the project if awarded.

## SECTION IV CONTRACTOR'S NON - COLLUSION AFFIDAVIT

The undersigned bidder or agent, being duly sworn on oath, says that he has not, nor has any other member, representative, or agent of the firm, company, corporation or partnership represented by him, entered into any combination, collusion or agreement with any person relative to the price to be bid by anyone at such letting nor to prevent any person from bidding nor to include anyone to refrain from bidding, and that this bid is made without reference to any other bid and without any agreement, understanding or combination with any other person in reference to such bidding.

He further says that no person or persons, firms, or corporation has, have or will receive directly or indirectly, any rebate, fee, gift, commission or thing of value on account of such sale.

### SECTION V OATH AND AFFIRMATION

I HEREBY AFFIRM UNDER THE PENALTIES FOR PERJURY THAT THE FACTS AND INFORMATION CONTAINED IN THE FOREGOING BID FOR PUBLIC WORKS ARE TRUE AND CORRECT.

Dated at <u>CC&amp;T Construction Co., Inc</u> this <u>C</u>	day of December 2020
CC&T Construction	Co., Inc
ву	(Name of Organization)
Tony Page/Preside	nt
· · · · · · · · · · · · · · · · · · ·	(Title of Person Signing)
ACKNOWLEDGE	MENT
STATE OF Indiana)	
) ss COUNTY OF Marion )	
Before me, a Notary Public, personally appeared the above-nan	ned Tony Page and
swore that the statements contained in the foregoing document	are true and correct.
Subscribed and sworn to before me this07 day of _	C
	Paren Danieton
	Notary Public
My Commission Expires: 04/30/2027	KARLA HAMILTON Notary Public - Seal Marion County - State of Indiana Commission Number NP0720066
County of Residence: Marion	My Commission Expires April 30, 2027

Part of State Form 52414 (R2 / 2-13) / Form 96 (Revised 2013)

CC&T Construction Co.,Inc

5051 Prospect Street

(Address)

(Contractor)

Indianapolis, IN 46203

FOR

# PUBLIC WORKS PROJECTS

OF

Town of McCordsville

6280 W. 800 N.

McCordsville, Indiana 46055

Filed \_\_\_\_\_, \_\_\_\_,

Action taken

# **CC&T Construction Co., Inc.**

# **CONCRETE SPECIALISTS**

Since 1989

5051 Prospect Street Indianapolis, IN 46203 TEL: 317-356-6385 FAX: 317-356-2175

Firm: CC&T Construction Co., Inc Name: Tony Page Treasury Number: 35-1773157 Address: 5051 Prospect Street Indianapolis, IN 4603